Hindawi Publishing Corporation International Journal of Mathematics and Mathematical Sciences Volume 2007, Article ID 16595, 14 pages doi:10.1155/2007/16595

Research Article

Spectral Theory from the Second-Order *q*-Difference Operator

Lazhar Dhaouadi

Received 24 October 2006; Revised 28 January 2007; Accepted 28 February 2007

Recommended by Petru Jebelean

Spectral theory from the second-order q-difference operator Δ_q is developed. We give an integral representation of its inverse, and the resolvent operator is obtained. As application, we give an analogue of the Poincare inequality. We introduce the Zeta function for the operator Δ_q and we formulate some of its properties. In the end, we obtain the spectral measure.

Copyright © 2007 Lazhar Dhaouadi. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

1. Basic definitions

Consider 0 < q < 1. In what follows, the standard conventional notations from [1] will be used

$$\mathbb{R}_{q} = \{ \mp q^{n}, \ n \in \mathbb{Z} \}, \qquad \mathbb{R}_{q}^{+} = \{ q^{n}, \ n \in \mathbb{Z} \},
(a,q)_{0} = 1, \qquad (a,q)_{n} = \prod_{i=0}^{n-1} (1 - aq^{i}),
[n]_{q} = \frac{1 - q^{n}}{1 - q}.$$
(1.1)

The *q*-schift operator is

$$\Lambda_q f(x) = f(qx). \tag{1.2}$$

2 International Journal of Mathematics and Mathematical Sciences

Next, we introduce two concepts of q-analysis: the q-derivative and the q-integral. The q-derivative (see [2]) of a function f is defined by

$$D_q f(x) = \frac{f(x) - f(qx)}{(1 - q)x},\tag{1.3}$$

and the second-order *q*-difference operator is

$$\Delta_q f(x) = \left[\frac{1-q}{q} \right]^2 \Lambda_q^{-1} D_q^2 f(x) = \frac{1}{x^2} \left[f(q^{-1}x) - \frac{1+q}{q} f(x) + \frac{1}{q} f(qx) \right]. \tag{1.4}$$

The product rule for the *q*-derivative is

$$D_a(fg)(x) = D_a f(x)g(x) + \Lambda_a f(x)D_a g(x). \tag{1.5}$$

Jackson's q-integral (see [3]) in the interval [a, b] is defined by

$$\int_{a}^{b} f(x)d_{q}x = (1-q)\sum_{n=0}^{\infty} q^{n} [bf(bq^{n}) - af(aq^{n})].$$
 (1.6)

Also the rule of q-integration by parts is given by

$$\int_{a}^{b} D_{q} f(x) g(x) d_{q} x = \left[f(b) g(b) - f(a) g(a) \right] - \int_{a}^{b} \Lambda_{q} f(x) D_{q} g(x) d_{q} x. \tag{1.7}$$

The Hahn-Exton *q*-Bessel function of order $\alpha > -1$ (see [4–6]) is defined by

$$J_{\alpha}^{(3)}(x,q) = \frac{(q^{\alpha+1},q)_{\infty}}{(q,q)_{\infty}} x^{\alpha}{}_{1}\phi_{1}(0,q^{\alpha+1},q;qx^{2}). \tag{1.8}$$

The *q*-trigonometric functions (see [7]) are defined on \mathbb{C} by

$$\cos(x,q^{2}) = {}_{1}\phi_{1}(0,q;q^{2};q^{2}x^{2})$$

$$= \sum_{n=0}^{\infty} (-1)^{n} \frac{q^{n(n+1)}}{(q,q)_{2n}} x^{2n} = \frac{(q^{2},q^{2})_{\infty}}{(q,q^{2})_{\infty}} \sqrt{x} J_{-1/2}^{(3)}(x,q^{2}),$$

$$\sin(x,q^{2}) = (1-q)^{-1} x_{1} \phi_{1}(0,q^{3},q^{2};q^{2}x^{2})$$

$$= \sum_{n=0}^{\infty} (-1)^{n} \frac{q^{n(n+1)}}{(q,q)_{2n+1}} x^{2n+1} = \frac{(q^{2},q^{2})_{\infty}}{(q,q^{2})_{\infty}} \sqrt{x} J_{1/2}^{(3)}(x,q^{2}).$$
(1.9)

Both functions $cos(x, q^2)$ and $sin(x, q^2)$ are analytic. In [7], it is proved that

$$\Delta_q f(x) = \begin{cases} -\lambda^2 f(x), & \text{if } f(x) = \cos(\lambda x, q^2) \\ -\frac{1}{q} \lambda^2 f(x), & \text{if } f(x) = \sin(\lambda x, q^2). \end{cases}$$
(1.10)

Let $\mathcal{L}_{q,2}$ be the space of all real-valued functions defined on

$$[0,1]_q = \{q^n, n = 0,1,\dots\},\tag{1.11}$$

such that

$$||f||_{\mathcal{L}_{q,2}} = \left(\int_0^1 |f(x)|^2 d_q x\right)^{1/2} < \infty.$$
 (1.12)

Then, $\mathcal{L}_{q,2}$ is a separable Hilbert space with the inner product

$$\langle f, g \rangle = \int_0^1 f(x)g(x)d_q x. \tag{1.13}$$

In the following, we denote by $\mathfrak D$ the subspace of $\mathcal L_{q,2}$ defined by

$$\mathfrak{D} = \left\{ f \in \mathcal{L}_{q,2}, \ \Delta_q f \in \mathcal{L}_{q,2}, \ \lim_{n \to \infty} f(q^n) = f(1) = 0 \right\}. \tag{1.14}$$

2. Eigenfunctions of Δ_q in \mathfrak{D}

Theorem 2.1. (Δ_q, \mathfrak{D}) has an infinite sequence of nonzero real eigenvalues

$$\{\eta_n = -\lambda_n^2\}_{n \in \mathbb{N}^*},\tag{2.1}$$

where $0 < \lambda_1 < \lambda_2 < \cdots$ are the positive zeros of the following function:

$$x \mapsto \sin\left(\sqrt{q}x, q^2\right).$$
 (2.2)

The corresponding set of eigenfunctions is

$$\left\{\sin\left(\sqrt{q}\lambda_n x, q^2\right)\right\}_{n\in\mathbb{N}^*}.\tag{2.3}$$

Proof. For $f,g \in \mathfrak{D}$, using the *q*-integration by parts we write

$$\int_{0}^{1} \Lambda_{q}^{-1} D_{q}^{2} f(x) g(x) d_{q} x = q^{2} \int_{0}^{1} D_{q}^{2} \Lambda_{q}^{-1} f(x) g(x) d_{q} x$$

$$= -q^{2} \int_{0}^{1} \Lambda_{q} D_{q} \Lambda_{q}^{-1} f(x) D_{q} g(x) d_{q} x$$

$$= -q \int_{0}^{1} D_{q} f(x) D_{q} g(x) d_{q} x,$$
(2.4)

hence

$$\int_{0}^{1} \Delta_{q} f(x) g(x) d_{q} x = \int_{0}^{1} f(x) \Delta_{q} g(x) d_{q} x. \tag{2.5}$$

In particular, we can write

$$\int_{0}^{1} \Delta_{q} f(x) f(x) d_{q} x = -\frac{(1-q)^{2}}{q} \int_{0}^{1} \left[D_{q} f(x) \right]^{2} d_{q} x. \tag{2.6}$$

4 International Journal of Mathematics and Mathematical Sciences

Let σ_p be the sequence of eigenvalues of (Δ_q, \mathfrak{D}) . Then

$$\sigma_p \subset \mathbb{R}_-.$$
 (2.7)

Let $f \in \mathcal{D}$ be a function satisfying the *q*-differential equation

$$\Delta_q f(x) = -\lambda^2 f(x), \quad \forall x \in \mathbb{R}_q^+.$$
 (2.8)

Using (1.4), we write

$$q^{-2n} \left[f(q^{n-1}) - \frac{(1+q)}{q} f(q^n) + f(q^{n+1}) \right] = -\lambda^2 f(q^n), \quad \forall n \in \mathbb{Z}.$$
 (2.9)

Therefore the set of solution of (2.8) is a vector space over \mathbb{R} of dimension 2. From (1.10), it follows that f can be written in the form

$$f(x) = a\sin\left(\sqrt{q}\lambda x, q^2\right) + b\cos\left(\lambda x, q^2\right), \quad a, b \in \mathbb{R}.$$
 (2.10)

If f satisfies

$$\lim_{n \to \infty} f(q^n) = f(1) = 0, \tag{2.11}$$

then $f(x) = a\sin(\sqrt{q}\lambda x, q^2)$ and $\sin(\sqrt{q}\lambda, q^2) = 0$. In [5], it is proved that The Hahn-Exton q-Bessel function of order $\alpha > -1$ has a countably infinite number of positive simple zeros. This finishes the proof.

3. The inverse of Δ_q in the space \mathfrak{D}

Given $x = q^s \in \mathbb{R}_q^+$, we define

$$[x,1]_q = \{q^n, n = 0 \cdots s\}, \qquad [0,x]_q = \{q^n, n = s \cdots\}.$$
 (3.1)

We introduce the operator

$$u_k: \mathcal{L}_{q,2} \longrightarrow u_k(\mathcal{L}_{q,2})$$
 (3.2)

defined by

$$u_k(f)(x) = \frac{q}{(1-q)^2} \int_0^1 k(x,y) f(y) d_q y,$$
 (3.3)

where

$$k(x,y) = \begin{cases} x(y-1) & \text{if } y \in [x,1]_q \\ y(x-1) & \text{if } y \in [0,x]_q. \end{cases}$$
 (3.4)

Theorem 3.1. The operator u_k is the inverse of Δ_q in the space \mathfrak{D} .

Proof. For $f \in \mathcal{L}_{q,2}$, we write

$$u_k(f)(x) = \frac{q}{(1-q)^2} \left[(x-1) \int_0^x y f(y) d_q y + x \int_x^1 (y-1) f(y) d_q y \right].$$
 (3.5)

Then

$$u_k(f) \in \mathcal{L}_{q,2}, \quad \lim_{n \to \infty} u_k(f)(q^n) = u_k(f)(1) = 0.$$
 (3.6)

On the other hand, using (1.5) we write

$$D_q u_k(f)(x) = \frac{q}{(1-q)^2} \left[(x-1)xf(x) + \int_0^{qx} yf(y)d_q y - x(x-1)f(x) + \int_{qx}^1 (y-1)f(y)d_q y \right]$$

$$= \frac{q}{(1-q)^2} \left[\int_0^{qx} yf(y)d_q y + \int_{qx}^1 (y-1)f(y)d_q y \right],$$

$$D_q^2 u_k(f)(x) = \frac{q^2}{(1-q)^2} \left[qx f(qx) - (qx-1)f(qx) \right] = \frac{q^2}{(1-q)^2} f(qx), \tag{3.7}$$

which shows that

$$\Delta_q \circ u_k(f)(x) = f(x). \tag{3.8}$$

We conclude that

$$u_k(f) \in \mathfrak{D}, \quad \Delta_q \circ u_k = \mathrm{id}_{\mathcal{L}_{q,2}}.$$
 (3.9)

Similarly, we can prove that

$$u_k \circ \Delta_q f(x) = f(x), \quad \forall f \in \mathfrak{D}.$$
 (3.10)

Indeed

$$u_k \circ \Delta_q(f)(x) = \frac{q}{(1-q)^2} \int_0^1 k(x, y) \Delta_q f(y) d_q y,$$
 (3.11)

with

$$k(x,0) = k(x,1) = 0,$$
 (3.12)

and we obtain

$$\frac{q}{(1-q)^2} \int_0^1 k(x,y) \Delta_q f(y) d_q y
= \frac{q}{(1-q)^2} \int_0^1 \Delta_q k(x,y) f(y) d_q y = \frac{q}{1-q} \sum_{n=0}^{\infty} q^n \Delta_q k(x,q^n) f(q^n).$$
(3.13)

Next, we have

$$\Delta_q k(x, y) = \frac{1}{y^2} \left[k(x, q^{-1}y) - \frac{1+q}{q} k(x, y) + \frac{1}{q} k(x, qy) \right], \tag{3.14}$$

which implies

$$\Delta_{q}k(x,x) = \frac{1}{x^{2}} \left[k(x,q^{-1}x) - \frac{1+q}{q}k(x,x) + \frac{1}{q}k(x,qx) \right]$$

$$= \frac{1}{x^{2}} \left[x(q^{-1}x - 1) - \frac{1+q}{q}x(x-1) + \frac{1}{q}qx(x-1) \right] = \frac{1-q}{qx}.$$
(3.15)

Now we will prove that

$$\Delta_{a}k(x,y) = 0 \quad \text{if } x \neq y. \tag{3.16}$$

For $y \in [0,x]_q$, we have

$$\Delta_q k(x, y) = \frac{1}{y^2} \left[(x - 1)q^{-1}y - \frac{1 + q}{q}(x - 1)y + \frac{1}{q}(x - 1)qy \right] = 0, \tag{3.17}$$

and if $y \in [x, 1]_q$,

$$\Delta_q k(x, y) = \frac{1}{y^2} \left[(y - 1)q^{-1}x - \frac{1 + q}{q}(y - 1)x + \frac{1}{q}(y - 1)qx \right] = 0.$$
 (3.18)

Therefore

$$\frac{q}{(1-q)^2} \int_0^1 k(x,y) \Delta_q f(y) d_q y = f(x).$$
 (3.19)

This finishes the proof.

COROLLARY 3.2. The sequence

$$\left\{\sin\left(\sqrt{q}\lambda_n x, q^2\right)\right\}_{n\in\mathbb{N}},\tag{3.20}$$

is an orthogonal basis of $\mathcal{L}_{q,2}$.

Proof. Since u_k is a Hilbert-Schmidt operator, then u_k is normal and compact because $\mathcal{L}_{q,2}$ is separable. The eigenfunctions of u_k are the elements of the sequence

$$\{\sin\left(\sqrt{q}\lambda_n x, q^2\right)\}_{n\in\mathbb{N}},\tag{3.21}$$

associated with corresponding eigenvalues

$$\eta_n = -\frac{1}{\lambda_n^2},\tag{3.22}$$

and they form an orthogonal basis of $\mathcal{L}_{q,2}$.

4. Resolvent operator and Green kernel

We introduce the q-hyperbolic sine and the q-hyperbolic cosine function as follows:

$$\sinh(x, q^2) = -i\sin(ix, q^2), \qquad \cosh(x, q^2) = \cos(ix, q^2).$$
 (4.1)

For $z \in \mathbb{C}/\{\sigma_p\}$, we have the following result.

THEOREM 4.1. The q-Sturm-Liouville problem

$$\Delta_q U(x) = zU(x) - f(x), \quad U \in \mathfrak{D},$$
 (4.2)

has a unique solution in the form

$$U(x) = (z - \Delta_q)^{-1} f(x) = \int_0^1 G_{q,z}(x, y) \Lambda_q f(y) d_q y, \tag{4.3}$$

where $G_{q,z}$ is the Green kernel defined by

$$G_{q,z}(x,y) = -\frac{q^2}{(1-q)} \frac{1}{\sqrt{q\overline{z}} \sinh(\sqrt{q\overline{z}}, q^2)} \begin{cases} U_1(x)U_2(qy), & y \in [x,1]_q \\ U_1(qy)U_2(x), & y \in [0,x]_q \end{cases}$$
(4.4)

and U_1 and U_2 are defined by

$$U_{1}(x) = \sinh\left(\sqrt{qz}x, q^{2}\right),$$

$$U_{2}(x) = \cosh\left(\sqrt{z}x, q^{2}\right) \sinh\left(\sqrt{qz}, q^{2}\right) - \sinh\left(\sqrt{qz}x, q^{2}\right) \cosh\left(\sqrt{z}, q^{2}\right).$$

$$(4.5)$$

Proof. We will solve this q-problem using the q-analogue of the method of variation of constants. We write U in the following form:

$$U(x) = U_1(x)V_1(x) + U_2(x)V_2(x). (4.6)$$

Note that U_1 and U_2 form a fundamental solution set of the q-difference equation

$$\Delta_q U(x) = z U(x). \tag{4.7}$$

Using (1.5), we write

$$D_q U(x) = D_q U_1(x) V_1(x) + \Lambda_q U_1(x) D_q V_1(x) + D_q U_2(x) V_2(x) + \Lambda_q U_2(x) D_q V_2(x). \tag{4.8}$$

From the first condition

$$\Lambda_q U_1(x) D_q V_1(x) + \Lambda_q U_2(x) D_q V_2(x) = 0, \tag{4.9}$$

we get

$$D_q U(x) = D_q U_1(x) V_1(x) + D_q U_2(x) V_2(x).$$
(4.10)

Therefore

$$D_q^2 U(x) = D_q V_1(x) D_q U_1(x) + \Lambda_q V_1(x) D_q^2 U_1(x) + D_q V_2(x) D_q U_2(x) + \Lambda_q V_2(x) D_q^2 U_2(x). \tag{4.11} \label{eq:def_quadratic_point}$$

From the second condition

$$D_q V_1(x) D_q U_1(x) + D_q V_2(x) D_q U_2(x) = -\frac{q^2}{(1-q)^2} \Lambda_q f(x), \tag{4.12}$$

we obtain

$$D_q^2 U(x) = \Lambda_q V_1(x) D_q^2 U_1(x) + \Lambda_q V_2(x) D_q^2 U_2(x) - \frac{q^2}{(1-q)^2} \Lambda_q f(x). \tag{4.13}$$

Conditions (4.9) and (4.12) form a linear system

$$\begin{pmatrix} \Lambda_q U_1(x) & \Lambda_q U_2(x) \\ D_q U_1(x) & D_q U_2(x) \end{pmatrix} \begin{pmatrix} D_q V_1(x) \\ D_q V_2(x) \end{pmatrix} = \begin{pmatrix} 0 \\ -\frac{q^2}{(1-q)^2} \Lambda_q f(x) \end{pmatrix}. \tag{4.14}$$

The solution of this system is

$$\begin{split} D_q V_1(x) &= \frac{q^2}{(1-q)^2 w(x)} \Lambda_q U_2(x) \Lambda_q f(x), \\ D_q V_2(x) &= -\frac{q^2}{(1-q)^2 w(x)} \Lambda_q U_1(x) \Lambda_q f(x), \end{split} \tag{4.15}$$

where

$$w(x) = \det \begin{pmatrix} \Lambda_q U_1(x) & \Lambda_q U_2(x) \\ D_q U_1(x) & D_q U_2(x) \end{pmatrix} = \Lambda_q U_1(x) D_q U_2(x) - \Lambda_q U_2(x) D_q U_1(x)$$
(4.16)

is the *q*-Wronskian of the *q*-Sturm-Liouville problem.

Now since

$$\Lambda_a^{-1} w(x) = U_1(x) \Lambda_a^{-1} D_q U_2(x) - U_2(x) \Lambda_a^{-1} D_q U_1(x), \tag{4.17}$$

using (1.5), and the fact that U_1 and U_2 are fundamental solution of the q-difference equation $\Delta_q U(x) = zU(x)$, we obtain

$$\begin{split} D_{q}\Lambda_{q}^{-1}w(x) &= D_{q}\Lambda_{q}^{-1}D_{q}U_{2}(x)U_{1}(x) + D_{q}U_{2}(x)D_{q}U_{1}(x) \\ &- D_{q}\Lambda_{q}^{-1}D_{q}U_{1}(x)U_{2}(x) - D_{q}U_{1}(x)D_{q}U_{2}(x) \\ &= \frac{q}{(1-q)^{2}} \left[\Delta_{q}U_{2}(x)U_{1}(x) - \Delta_{q}U_{1}(x)U_{2}(x) \right] = 0. \end{split} \tag{4.18}$$

Therefore

$$w(q^n) = \text{constant}, \quad \forall n \in \mathbb{Z}.$$
 (4.19)

Finally, for $x \in \mathbb{R}_q^+$ we get

$$w(x) = w(0) = U_1(0)D_aU_2(0) - U_2(0)D_aU_1(0).$$
(4.20)

Therefore the functions V_1 and V_2 satisfy

$$D_{q}V_{1}(x) = \frac{q^{2}}{(1-q)^{2}w(0)}\Lambda_{q}U_{2}(x)\Lambda_{q}f(x),$$

$$D_{q}V_{2}(x) = -\frac{q^{2}}{(1-q)^{2}w(0)}\Lambda_{q}U_{1}(x)\Lambda_{q}f(x),$$
(4.21)

which gives

$$V_{1}(x) = -\frac{q^{2}}{(1-q)^{2}w(0)} \int_{x}^{1} \Lambda_{q} U_{2}(y) \Lambda_{q} f(y) d_{q} y,$$

$$V_{2}(x) = -\frac{q^{2}}{(1-q)^{2}w(0)} \int_{0}^{x} \Lambda_{q} U_{1}(y) \Lambda_{q} f(y) d_{q} y.$$

$$(4.22)$$

The condition $U \in \mathfrak{D}$ requires

$$U_1(0) = U_2(1) = 0,$$
 (4.23)

which implies

$$w(0) = -U_2(0)D_q U_1(0). (4.24)$$

Using the fact that

$$D_q \sin(x, q^2) = \frac{1}{1 - q} \cos(x, q^2),$$
 (4.25)

we obtain

$$w(0) = \frac{1}{1 - q} \sqrt{qz} \sinh\left(\sqrt{qz}, q^2\right). \tag{4.26}$$

This completes the proof.

5. Poincare inequality

Here, we give a *q*-analogue of the Poincare inequality.

Theorem 5.1. Given $f \in \mathfrak{D}$, then

$$\int_{0}^{1} \left[f(x) \right]^{2} d_{q} x \le \frac{(1-q)^{2}}{q \lambda_{1}^{2}} \int_{0}^{1} \left[D_{q} f(x) \right]^{2} d_{q} x. \tag{5.1}$$

Proof. For $f \in \mathfrak{D}$, we write

$$f(x) = \sum_{n=1}^{\infty} \frac{1}{k_n} a_n \sin\left(\sqrt{q}\lambda_n x, q^2\right), \quad \forall x \in [0, 1]_q,$$

$$(5.2)$$

where

$$a_n = \int_0^1 f(x) \sin(\sqrt{q}\lambda_n x, q^2) d_q x, \qquad k_n = ||\sin(\sqrt{q}\lambda_n x, q^2)||_{\mathcal{L}_{q,2}}^2.$$
 (5.3)

Therefore

$$\Delta_q f(x) = -\sum_{n=1}^{\infty} \frac{1}{k_n} a_n \lambda_n^2 \sin\left(\sqrt{q} \lambda_n x, q^2\right), \quad x \in [0, 1]_q.$$
 (5.4)

This implies

$$\int_{0}^{1} \Delta_{q} f(x) f(x) d_{q} x = -\sum_{n=1}^{\infty} a_{n}^{2} \lambda_{n}^{2}, \qquad \int_{0}^{1} \left[f(x) \right]^{2} d_{q} x = \sum_{n=1}^{\infty} a_{n}^{2}.$$
 (5.5)

Using that

$$\int_{0}^{1} \Lambda_{q}^{-1} D_{q}^{2} f(x) f(x) d_{q} x = q \int_{0}^{1} D_{q}^{2} f(x) \Lambda_{q}^{-1} f(x) d_{q} x
= q \left[D_{q} f(1) f(1) - D_{q} f(0) f(0) \right] - q \int_{0}^{1} \left[D_{q} f(x) \right]^{2} d_{q} x \qquad (5.6)
= -q \int_{0}^{1} \left[D_{q} f(x) \right]^{2} d_{q} x,$$

we obtain

$$\int_{0}^{1} \left[D_{q} f(x) \right]^{2} d_{q} x = -\frac{q}{(1-q)^{2}} \int_{0}^{1} \Delta_{q} f(x) f(x) d_{q} x$$

$$= \frac{q}{(1-q)^{2}} \sum_{n=1}^{\infty} a_{n}^{2} \lambda_{n}^{2} = \frac{q \lambda_{1}^{2}}{(1-q)^{2}} \sum_{n=1}^{\infty} \left(\frac{\lambda_{n}}{\lambda_{1}} \right)^{2} a_{n}^{2}.$$
(5.7)

From the inequality

$$\frac{\lambda_n}{\lambda_1} \ge 1$$
, for every $n \ge 1$, (5.8)

we conclude that

$$\int_{0}^{1} \left[f(x) \right]^{2} d_{q} x \le \frac{(1-q)^{2}}{q \lambda_{1}^{2}} \int_{0}^{1} \left[D_{q} f(x) \right]^{2} d_{q} x. \tag{5.9}$$

This completes the proof.

As an application, consider the function

$$f(x) = x(x-1). (5.10)$$

After simple calculations, we obtain

$$\left[\frac{\lambda_1}{1-q}\right]^2 \le \frac{1/[3]_q}{1/[5]_q - 2/[4]_q + 1/[3]_q}.$$
(5.11)

6. Zeta function for the operator Δ_q

Theorem 6.1. (1) If $q^3 < (1-q^2)^2$, then the Zeta function for the operator Δ_q

$$\zeta_q(s) = \sum_{p=1}^{\infty} \left(\frac{\lambda_1}{\lambda_p}\right)^s \tag{6.1}$$

is analytic in the region $\{s \in \mathbb{C}, \Re(s) > 0\}$.

(2) For every $n \in \mathbb{N}^*$,

$$\zeta_{q}(2n) = \left(-\frac{q\lambda_{1}^{2}}{(1-q)^{2}}\right)^{n} \int_{0}^{1} \cdots \int_{0}^{1} k(x_{1}, x_{2}) \cdots k(x_{n-1}, x_{n}) k(x_{n}, x_{1}) d_{q} x_{1} \cdots d_{q} x_{n}.$$
(6.2)

Proof. In [8], it is proved that if

$$q^{2\alpha+2} < (1-q^2)^2, (6.3)$$

then the positive roots $w_k^{(\alpha)}(q^2)$ of the Hahn-Exton q-Bessel function $J_\alpha^{(3)}(x,q)$ satisfy

$$\lim_{k \to \infty} q^k w_k^{(\alpha)}(q^2) = 1. \tag{6.4}$$

Since

$$\sin(x,q^2) = \frac{(q^2,q^2)_{\infty}}{(q,q^2)_{\infty}} \sqrt{x} J_{1/2}^{(3)}(x,q^2), \tag{6.5}$$

we have

$$\lambda_k = \frac{w_n^{(1/2)}(q^2)}{\sqrt{q}} \sim \frac{1}{\sqrt{q}} q^{-k},$$
(6.6)

which leads to the first result.

To prove the second result we use the Mercer theorem for the operator u_k

$$\frac{q}{(1-q^2)}k(x,y) = -\sum_{p=1}^{\infty} \frac{1}{k_p} \frac{1}{\lambda_p^2} \sin\left(\sqrt{q}\lambda_p x, q^2\right) \sin\left(\sqrt{q}\lambda_p y, q^2\right),\tag{6.7}$$

and the orthogonality relations

$$\frac{1}{k_p} \int_0^1 \sin\left(\sqrt{q}\lambda_p x, q^2\right) \sin\left(\sqrt{q}\lambda_m x, q^2\right) d_q x = \delta_{pm}. \tag{6.8}$$

This completes the proof.

Example 6.2.

$$\zeta_{q}(2) = -\frac{q\lambda_{1}^{2}}{(1-q)^{2}} \int_{0}^{1} k(x,x) d_{q}x = \frac{q\lambda_{1}^{2}}{(1-q)^{2}} \left[\frac{1}{[2]_{q}} - \frac{1}{[3]_{q}} \right],$$

$$\zeta_{q}(4) = \int_{0}^{1} \cdots \int_{0}^{1} k(x,y)^{2} d_{q}y d_{q}x = \frac{q^{2}\lambda_{1}^{4}}{(1-q)^{4}} \frac{1}{[3]_{q}} \left[\frac{1}{[5]_{q}} - \frac{2}{[4]_{q}} + \frac{1}{[3]_{q}} \right].$$
(6.9)

In [7], it is proved that $\sin((1-q)x, q^2) \rightarrow \sin(x)$, as $q \rightarrow 1^-$. This implies

$$\lim_{q \to 1^-} \frac{\lambda_n}{1 - q} = n\pi. \tag{6.10}$$

Thus, when $q \rightarrow 1^-$, we obtain the well-known identities for the Euler Zeta function

$$\zeta(2) = \sum_{n=1}^{\infty} \frac{1}{n^2} = \frac{\pi^2}{6}, \qquad \zeta(4) = \sum_{n=1}^{\infty} \frac{1}{n^4} = \frac{\pi^4}{90}.$$
 (6.11)

7. Spectral resolution

We can now find the spectral measure of Δ_q from the resolvent, see the Stieltjes-Perron inversion formula [9].

Theorem 7.1. Let $\eta_n = -\lambda_n^2$ be a point from the spectrum of Δ_q . If

$$u \in \mathfrak{D}, \qquad v \in \mathcal{L}_{q,2},$$
 (7.1)

then the spectral measure E of $\{\eta_n\}$ is given by

$$\langle E\{\eta_n\}u,v\rangle = \frac{2}{(1-q)} \frac{\cosh\left(\sqrt{\eta_n},q^2\right)}{(d/dx)\sinh\left(x,q^2\right)\big|_{x=\sqrt{q\eta_n}}} \langle u,\sin\left(\sqrt{q}\lambda_n x,q^2\right)\rangle \cdot \langle v,\sin\left(\sqrt{q}\lambda_n x,q^2\right)\rangle. \tag{7.2}$$

Proof. In order to calculate $E\{\eta_n\}$, we choose the interval (a,b) so that it contains only $\eta_n = -\lambda_n^2$ as a point from the spectrum. Then

$$\langle E\{\eta_n\}u,v\rangle = \langle E(a,b)u,v\rangle$$

$$= \lim_{\varepsilon \downarrow 0} \frac{1}{2i\pi} \int_a^b \left[\langle (s-i\varepsilon - \Delta_q)^{-1}u,v\rangle - \langle (s+i\varepsilon - \Delta_q)^{-1}u,v\rangle \right] ds \qquad (7.3)$$

$$= \frac{1}{2i\pi} \int_{\{\eta_n\}} \langle (s-\Delta_q)^{-1}u,v\rangle ds.$$

Now observe that

$$\langle (s - \Delta_q)^{-1} u, v \rangle = \int_0^1 \cdots \int_0^1 G_s(x, y) \Lambda_q u(y) v(x) d_q y d_q x. \tag{7.4}$$

If $z = \eta_n$, then $\sinh(\sqrt{qz}, q^2) = 0$, which implies that the fundamental solutions U_1 and U_2 of the q-difference equation

$$\Delta_a U = zU \tag{7.5}$$

are proportional as follows:

$$U_2(x) = -\cosh(\sqrt{\eta_n}, q^2)U_1(x), \quad \forall x \in [0, 1]_q.$$
 (7.6)

Therefore

$$\langle E\{\eta_n\}u,v\rangle = \int_0^1 \cdots \int_0^1 \left[\operatorname{Res}_{s=\eta_n} G_s(x,y) \right] \Lambda_q u(y) v(x) d_q y \, d_q x$$

$$= \frac{q^2}{(1-q)} \cosh\left(\sqrt{\eta_n}, q^2\right) \left[\operatorname{Res}_{s=\eta_n} \frac{1}{\sqrt{qs} \sinh\left(\sqrt{qs}, q^2\right)} \right]$$

$$\times \langle \Lambda_q u, \sinh\left(\sqrt{q\eta_n} qx, q^2\right) \rangle \cdot \langle v, \sinh\left(\sqrt{q\eta_n} x, q^2\right) \rangle.$$
(7.7)

If f(1) = 0, then

$$\int_{0}^{1} \Lambda_{q} f(x) d_{q} x = \frac{1}{q} \int_{0}^{1} f(x) d_{q} x, \tag{7.8}$$

which implies

$$\langle \Lambda_q u, \sinh(\sqrt{q\eta_n}qx, q^2) \rangle = \frac{1}{q} \langle u, \sinh(\sqrt{q\eta_n}x, q^2) \rangle.$$
 (7.9)

Finally we have

$$\langle E\{\eta_n\}u,v\rangle = \frac{2}{(1-q)} \frac{\cosh\left(\sqrt{\eta_n},q^2\right)}{(d/dx)\sinh\left(x,q^2\right)\big|_{x=\sqrt{q\eta_n}}} \langle u,\sin\left(\sqrt{q}\lambda_n x,q^2\right)\rangle \cdot \langle v,\sin\left(\sqrt{q}\lambda_n x,q^2\right)\rangle.$$
(7.10)

This completes the proof.

Corollary 7.2.

$$k_n = \left| \left| \sin \left(\sqrt{q} \lambda_n x, q^2 \right) \right| \right|_{\mathcal{L}_{q,2}}^2 = \frac{(1-q)}{2} \frac{(d/dx) \sinh \left(x, q^2 \right) \Big|_{x = \sqrt{q} \eta_n}}{\cosh \left(\sqrt{\eta_n}, q^2 \right)}. \tag{7.11}$$

Proof. For

$$u = v = \sin\left(\sqrt{q\lambda_n x}, q^2\right),\tag{7.12}$$

the result follows immediately from the following equality:

$$E\{\eta_n\}\sin\left(\sqrt{q}\lambda_n x, q^2\right) = \sin\left(\sqrt{q}\lambda_n x, q^2\right). \tag{7.13}$$

П

This finishes the proof.

Remark 7.3. In [5], it is proved that

$$\int_{0}^{1} x \left[J_{\alpha}^{(3)}(aqx,q^{2}) \right]^{2} d_{q}x = -\frac{1-q}{2} q^{\alpha-1} J_{\alpha+1}^{(3)}(aq,q^{2}) \frac{d}{dx} J_{\alpha}^{(3)}(x,q^{2}) \big|_{x=a}, \tag{7.14}$$

where $a \neq 0$ is a real zero of $J_{\alpha}^{(3)}(x,q^2)$. This formula can be employed to evaluate k_n by another method.

References

- [1] G. Gasper and M. Rahman, *Basic Hypergeometric Series*, vol. 35 of *Encyclopedia of Mathematics and Its Applications*, Cambridge University Press, Cambridge, UK, 1990.
- [2] F. H. Jackson, "On *q*-functions and a certain difference operator," *Transactions of the Royal Society of London*, vol. 46, pp. 253–281, 1908.
- [3] F. H. Jackson, "On a q-definite integrals," *Quarterly Journal of Pure and Application Mathematics*, vol. 41, pp. 193–203, 1910.
- [4] H. Exton, "A basic analogue of the Bessel-Clifford equation," *Inānābha*, vol. 8, pp. 49–56, 1978.
- [5] H. T. Koelink and R. F. Swarttouw, "On the zeros of the Hahn-Exton *q*-Bessel function and associated *q*-Lommel polynomials," *Journal of Mathematical Analysis and Applications*, vol. 186, no. 3, pp. 690–710, 1994.
- [6] R. F. Swarttouw, The Hahn-Exton q-Bessel functions, Ph.D. thesis, The Technical University of Delft, Delft, The Netherlands, 1992.
- [7] T. H. Koornwinder and R. F. Swarttouw, "On *q*-analogues of the Fourier and Hankel transforms," *Transactions of the American Mathematical Society*, vol. 333, no. 1, pp. 445–461, 1992.
- [8] L. D. Abreu, J. Bustoz, and J. L. Cardoso, "The roots of the third Jackson q-Bessel function," International Journal of Mathematics and Mathematical Sciences, vol. 2003, no. 67, pp. 4241–4248, 2003.
- [9] N. Dunford and J. T. Schwartz, *Linear Operators—Part II: Spectral Theory. Self Adjoint Operators in Hilbert Space*, John Wiley & Sons, New York, NY, USA, 1963.

Lazhar Dhaouadi: Institut Préparatoire aux Etudes d'Ingénieur de Bizerte, Université du 7 novembre Carthage, Route Menzel Abderrahmene Bizerte, Zarzouna 7021, Tunisia *Email address*: lazhardhaouadi@yahoo.fr